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Kelvin has a rock that weighs 7.016 pounds.  What is this weight rounded to the nearest tenth?
	
Malaysia saw the following totals posted at the track competition.
	Team Sprint
	12.75 seconds

	Team Jog
	19.38 second

	Team Runfast
	10.98 seconds


What is the best estimate of the sum of the fastest teams?

	
Round the sum of 13.09 and 2.77 to the nearest whole.




	Helen’s kitten weighs 0.853 pounds.  What is the weight of Helen’s kitten rounded to the nearest hundredth.







	Circle the numbers that round to 1. There are three of them.
1.990
0.9
0.09
0.99
1.099

	Round the following numbers to the nearest hundredth.
7.770 - ______

77.077 - ______

7.070 - ______

7.007 - ______


	Complete the table below.

	Round to the nearest whole.

	IN
	OUT

	4.12
	

	6.78
	

	8.56
	

	10.45
	



	Which numbers round to 2.4?


2.45
2.412



2.309
2.406


	Mike caught 2 fish yesterday.  One weighed 3.71 kilograms. The other weighed 6.018 kilograms.  What is the total weight of both fish rounded to the nearest tenth?




